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QUESTION 1

Which role is required to create and manage user accounts for Profitability and Cost Management?
A. Service Administrator

B. Identity Domain Administrator or Security Administrator

C. Identity Domain Administrator or Service Administrator

D. Identity Domain Administrator

E. Security Administrator

Correct Answer: A

QUESTION 2

Which three are steps to create an allocation rule?
A. populate the driver basis dimensions

B. select the execution method

C. populate the allocation formula

D. populate the destination dimensions

E. populate the source dimensions

Correct Answer: BDE

QUESTION 3

Which three components are required to create a valid rule set?
A. Using Global Context defined in POV

B. Rule Set execution method

C. Rule Set Name

D. Sequence

E. Defined rule set context

Correct Answer: BCD

QUESTION 4
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You validate your Profitability and Cost Management application build but receive an error. Which three are possible
reasons of the validation failure?

A. You only had one dimension defined as a point of view dimension.

B. You did not have at least one member in all dimensions.

C. You did not Include at least one Business dimension.

D. After the main hierarchy was defined, the dimension contained alternate hierarchy with shared members.
E. A stored hierarchy contained members with member formulas.

Correct Answer: ACE

QUESTION 5

You are creating a rule set for allocation rules. On the description tab, you select Use Global Context. Which two
statements are true?

A. You can override the global context dimension selections at the rule set level.

B. When you select Use Rule Set Context for a rule In this rule set, the dimension-member combinations defined In the
Global Context section are also applied.

C. At the rule level, the Rule Context tab is where you can edit any default contexts applied to the rule.
D. On the Context tab for the rule set, you define default members for use In all rules added to the rule set.

Correct Answer: BC

QUESTION 6

Which two statements are true about dashboards?

A. All users can create and edit dashboards.

B. Dashboards can be enabled and disabled.

C. Charts In dashboards are based on existing Analysts Views.

D. You can drag and drop chart tiles to change the dashboard layout.

Correct Answer: CD

QUESTION 7
Which custom calculation formula Is syntactically correct?

A. [Adjustment In]= ([Input], [Rule]) * .15;
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B. [Adjustment In]= ([Input], (Rule]) * .15
C. [Adjustment In]:= ([Input], [Rule]) * .15;
D. [Adjustment In]:= [Input],[Rule] *.15

E. (Adjustment In)= (Input, Rule) - .15;

Correct Answer: A

QUESTION 8

Which two statements are true about managing Points of View (POVs)?

A. You can archive POVs, but you cannot delete them.

B. A POVs status is automatically changed to Calculated when you calculate the POV.
C. When you add a new POV, the status Is automatically set to Draft.

D. Global rules and rule sets are not associated with a specific POV.

E. All POVs are data POVs, even If the data set Is empty.

Correct Answer: AC

QUESTION 9

Which three are valid statements about Locations In Data Management?

A. A location can be assigned to more than one data load rules.

B. A location can be assigned to more than one Import format.

C. You can create duplicate locations with the same source system and application combination.
D. Different locations can use the same import format.

E. A location may have more than one source system.

Correct Answer: ACD

QUESTION 10

Which two are required steps In creating an allocation rule?
A. Assign the rule sequence number,

B. Create at least one global context.

C. Create a rule set for the rule.
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D. Create a rule set context.

Correct Answer: CD
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